
9,� O'',(/
P5,=1$1,( . '$1, =$ P5('$-1e $87O0$7<

∟∟

PUtORKD�þ����������

∟ ∟0)��2�2���2�����2�

� RRGQp�þtVOR� Oý2

� 2EHF��NGH�VD�SUHGDMQê�DXWRPDW�SUHYiG]NXMH

� ZiNODG�GDQH��SRþHW�DXWRPDWRY��

$GUHVD�PLHVWD�SUHYiG]NRYDQLD 
�D�XPLHVWQHQLH

�SRVFKRGLH,�PLHVWQRVW
��

'UXK�D�Qi]RY�
DXWRPDWX

�QDSUtNODG�QD�KRU~��
FH�QiSRMH��FKODGHQp�
QiSRMH��FLJDUHW\��
DONRKRO��QD�UR]OLþQê
WRYDU��SRWUDYLQ\�

'UXK�WRYDURY
�QDSUtNODG�NiYD�
þDM��þRNROiGD�

,GHQWLILNDþQp
þtVOR 9êUREQp�þtVOR

'iWXP�
]DþDWLD�

SUHYiG]NR�
YDQLD

'iWXP�
XNRQþHQLD�
SUHYiG]NR�

YDQLD
3� þ�



∟∟

∟ ∟0)��2�2���2�����2�

$GUHVD�PLHVWD�SUHYiG]NRYDQLD 
�D�XPLHVWQHQLH

�SRVFKRGLH,�PLHVWQRVW
��

'UXK�D�Qi]RY�
DXWRPDWX

�QDSUtNODG�QD�KRU~��
FH�QiSRMH��FKODGHQp�
QiSRMH��FLJDUHW\��
DONRKRO��QD�UR]OLþQê
WRYDU��SRWUDYLQ\�

'UXK�WRYDURY
�QDSUtNODG�NiYD�
þDM��þRNROiGD�

,GHQWLILNDþQp
þtVOR 9êUREQp�þtVOR

'iWXP�
]DþDWLD�

SUHYiG]NR�
YDQLD

'iWXP�
XNRQþHQLD�
SUHYiG]NR�

YDQLD
3�� č.

PR]QiPND�


